March 17, 2014

Slope of a Line

- ratio of vertical vs. horizontal change of a line (rise over run)

Slope

a=Yyz-Yi
X2 = X1

Slope for horizontal lines: 0

43
(- (4'. Ox+"3

Slope for vertical lines:

does not exist

X=2

Other key terms:
x-intercept: where the line meets the x-axis

y-intercept: where the line meets the y-axis
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Parallel and Perpendicular Lines

/ Parallel lines: Same slope

Compare the slopes of the two lines in each of the following:

i A

Points: (0, 0) and (3, 1) Points: (0, 0) and (2, -1)
(0, 0) and (-2, 6) ’_’_\_ (0, 0) and (2, 4)

Perpendicular lines: Slopes are negative reciprocals

Veprocql L =
P Od S—\>T
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Equation of a Line

Function form: can be used for any non-vertical line

(< =) Vertcal (we

y=ax+b

Slope: a  y-intercept: b x-intercept: - b
(initial \(ue) 2

e.g. p.94

XY
2.a)A(4, 2) and B(5, -1)

Find the slope, equation, and intercepts.
e —— —
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Equation of a Line

General Form: can be used to describe any line

Ax+By+C=0 K/g

%+ 0y~2=0O - 2=-0 i
Slope:-A y-intercept -C_ x-intercept: C
B B A

x=3 Vzeticsl (we

1. Find equation in function form.
2. Rearrange to get rid of fractions.

3. Rearrange so all the terms are on the same side.

e.g.p. %4
2.a)A (4, 2) and B(5, -1)
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HW: p.94 #1, 2, 4

Perpendicular bisector: perpendicular line through the midpoint
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